Uwptdwunhlyw - dwpqwihU thni, 10-pn nwuwnpwU

Sunnniejnitup — 180 pnwt

. Qnt’p pninn a hpwlwl pdEpp, npnug hwdwn gwlulwgwd n puwlywl pdh hwdwn
a(n® + 2n)

wnunwhwjunniejwl wpdbep wdpnne hy E:
. N pbwluwl rhdp Ynydnid ELGpYwywgynn, GrE wjlu hbwpwynp EuGpluwjwglt]

v=[l+ [+

a b c

wnbupnd, npwntbn a, b W ¢ rUEpPp npwywl BU W a+b+c=1 : Anb’p wdtlUwihnen
Ubplwjwgynn rehip:
3bGE8NHU: [x]-p x-p sabpwquwlgnn wdtbwdts wdpnno rhyl £ [5 ;] = 5:
Fuwywl pr4yh Yuinp uwludwuble Upw gpwndwl dJdGYy Jwd Jh pwlh hwonpnuywl
rquwlywlltpny Yuaqdwd rhyp: Ophuwly, 8745 pyh Yuinnputplu U 8, 7, 4, 5, 87, 74, 45, 874,
745, 8745 pdbpp: PUwlwUu rhdp Jnppwbhwwnnly £, Geb Upw Yunnpubphg ny Jbyp sh
pwdwldnd 9-h (8745-p jnipwhwunndy sk, pwlh np 45-p pwdwluynd £ 9-h): Swulwgwd n
pUwlwl ryh hwdwp gnt’p n-wlhy jncpwhwnncy rybph pwbiwynp:
. “‘agnee B L € yewnEpnyd wuglnn 2nowlwaghop ABC tnwllyjwlu AB W AC Ynnutpp hwunnud £
hwdwwwwunwuhiwbwpwp D W E YGwnbpnwd: Yhgne ADC  Gnwllwll  wpunwgdwd
onowlwghop BE hwwndwop hwunnd B F ybwnud, huly ABE  GBnwllywll wpunwqdwd
onowlwaghdp €D hwundwop hwunnud £ G 4einnwd: Hthgnie BG W CF hwundwoubpp hwwnygnid
EU S 4Ewnnud: Uywgnigb’'p, nn £FAS = £GAS:



